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Uk 37197 U< ¢- Tatleh, et HfAd, 3regeaT,
3TETET, 3YTEART, WHE AAdT, T geEsr 3k
gatr 2| A, I I & e & Ay

T 9T do1 g1 gaer faeers 31 va & o had
gl Ifed &3 g1 3ureget 3R Hu«t afa dehraT
gl &1 o7 Y A 3R T € H 3uredsT a1 Fu=
afaa &1 3uTegeT, gaer fAeeres &1 Adecdd
TSI 1 8. ARSI, £ F I A g@Y TITT W o
g1 E, H F1 fseas =1 518 811 Ao,
shgtaﬁtﬁ?hzrawaﬁra»—rﬁmm
g1 fohTr gemgsR, B & & & 18 T I daT
g1 B 3UTEHST AT g1 C, 3TeTaT & Sk g doT 2|
A TETeT AL 1 F, A T [AFedH T2 8T §. G,
A FT Aheaqd =1 A AT §.

Eight colleagues, A, B, C, D, E, F, G and H, are sitting
around a circular table facing the centre but not
necessarily in the same order. Each one of them holds
a different post—Manager, Company Secretary,
Chairman, President, Vice President, Group Leader,
Financial Advisor and Managing Director. A sits third to
the right of the Managing Director. Only two people sit
between the Managing Director and H. The Vice
President and the Company Secretary are immediate
neighbours. Neither A nor H is a Vice President or a
Company Secretary. The Vice President is not an
immediate neighbour of the Managing Director. The
Manager sits second to the left of E. E is not an
immediate neighbour of H. The Manager is an
immediate neighbour of both the Group Leader and
the Financial Advisor. The Financial Advisor sits third to
the -right of B. B is not the Vice President. C sits on the
immediate right of the Chairman. A is not the
Chairman. F is not an immediate neighbour of A. G is
not an immediate neighbour of the Manager.



http://www.mahendras.org/

/ Watendrna’s / / FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727

Eight colleagues, A, B, C, D, E, F, G and H, are sitting
around a circular table facing the centre but not
necessarily in the same order. Each one of them holds
a different post—Manager, Company Secretary,
Chairman, President, Vice President, Group Leader,
Financial Advisor and Managing Director. A sits third to
the right of the Managing Director. Only two people sit
between the Managing Director and H. The Vice
President and the Company Secretary are immediate
neighbours. Neither A nor H is a Vice President or a
Company Secretary. The Vice President is not an
immediate neighbour of the Managing Director. The
Manager sits second to the left of E. E is not an
immediate neighbour of H. The Manager is an
immediate neighbour of both the Group Leader and
the Financial Advisor. The Financial Advisor sits third to
the -right of B. B is not the Vice President. C sits on the
immediate right of the Chairman. A is not the
Chairman. F is not an immediate neighbour of A. G is
not an immediate neighbour of the Manager.
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(Managing
Director)

(Company
Secretary) B

(Vice
President) G

(Chairman)
E

[' (Group
Leader)

H (Manager)

D( Financial

A Advisor)
(President)

1

Who amongst the following sits third to the left of E?
(a) Manager (b) G (c) A (d) Financial Advisor (e) B

Four of the following five are alike in a certain way based
on the given arrangement and thus form a group. Which is
the one that does not belong to that group? (a) F-
Chairman (b) G-President (c) D-Manager (d) A-Financial
Advisor (e) Managing Director

Who among the following is the President of the
company?
(a)A(b)C(c)H(d)G(e)D

Which of the following is true with respect to the given
seating arrangement? (a) The Group Leader of the
company is an immediate neighbour of the Vice President.
(b) G sits second to the right of D. (c) The Group Leader
and the Company Secretary are immediate neighbours. (d)
The Chairman of the company sits to the immediate left of
the Managing Director. (e) The Group Leader sits second to
the left of D.
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Saroj is mother-in-law of Vani who is sister-in-law of Deepak. Rajesh is father of
Ramesh, the only brother of Deepak. How is Saroj related to Deepak?

S qoft & I § S g i A1 g1 U, S9F F SHdld HIE AT F
Rar &1 aOe, us ¥ 59 IR gafa 87

(a) Mother-in-law (b) Wife (c) Aunt (d) Mother (e) None of these

it
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A directional post is erected on a crossing. In an accident, it was turned in such a way that
the arrow which was first showing east is now showing south. A passerby went in a wrong
direction thinking it is west. In which direction is he actually travelling now ?

U FHIAT W Th fAAcAs 9Fe @31 fFar J1ar 81 v qoear 7 58 59 g &
gATT 147 fF S R g qd R@r W@ o1 97 I« gfavor fewr W@ 81 v [k
Tz WIHT T 2T F Tem I B g G ¥ 9% adg F 39 fha faw #
IqTET X 7T 872

(a) North (b) South (c) East (d) West (e) None of these

it
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P,Q,R,S, TV, X3RY T dRAT
WA IR A I AT FF ST, P,
V& a0 O i TR qR daT gl vV AT
dY IWT & 91T B W TS ATV BN
A =l TATT W ST § | IS H1 S, R
F g W gEY TUTHT G ASTRIR, V
FT fAFeaq A g 81 TR Q
U q@l & fAsheas gsiHl § Afder
TarTIRTTQuiFaF AR
WSS TIRXF DT HaaT TR
gfad dorgl X Ufd & A SR
W AGI doT g

PQRSTV Xand Y are seated in a
staright line facing North, P sits fourth to
the left of V. V sits either sixth from the
left end of the line or fourth from the
right end of the line. S sits second to
right of R. R is not an immediate
neighbour of V. T and Q are immediate
neighbours of each other but neither T
nor Q sits at extreme ends of the line.
Only one person sits between T and X. X
does not sit at the extreme end of the
line
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S Q N X Y | What is the position of Q with respect to P?
T f ‘|‘ T T ? T f (a) Fifth to the right (b) Immediate neighbour (c) Second to
right (d) Third to left (e) None of these

Il

Which of the following represents persons seated at the
two extreme ends of the line? (a) P,V (b) Y,S(b)R,V (d) Y,
P(e)R,Y

How many persons are seated between Rand T ?
(a) One (b) Two (c) Three (d) Four (e) None of these

If P is related to Q and S is related to T in a certain way, to
which of the following would V be related to following the
same pattern ? (a) Y(b) P (c) R(d) S (e) X

Who amongst the following sits exactly in the middle of
the persons who sit second from the left and the person
who sits fifth from the right?

(@) V(b)Q(c) T (d)S (e) P
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Input: caliber 49 cannibal 52 caution 43 caustic 39 camphor 62
Step I: 60 caliber 49 cannibal 52 caution 43 caustic 39 camphor
Step ll: 60 caustic caliber 49 cannibal 52 caution 43 39 camphor
Step lll: 60 caustic 50 caliber 49 cannibal caution 43 39 camphor
Step IV: 60 caustic 50 caution caliber 49 cannibal 43 39 camphor
Step V: 60 caustic 50 caution 47 caliber cannibal 43 39 camphor
Step VI: 60 caustic 50 caution 47 cannibal caliber 43 39 camphor
Step VII: 60 caustic 50 caution 47 cannibal 41 caliber 39 camphor
Step VIII: 60 caustic 50 caution 47 cannibal 41 camphor caliber 39
Step IX: 60 caution 50 caustic 47 cannibal 41 camphor 37 caliber

Input: mammals 65 laying 59 eggs 71 are 93 seldom 33
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Input: mammals 65 laying 59 eggs 71 are 93 seldom 33
Step I: 91 mammals 65 laying 59 eggs 71 are seldom 33
Step II: 91 seldom mammals 65 laying 59 eggs 71 are 33
Step IlI: 91 seldom 69 mammails 65 laying 59 eggs are 33
Step IV: 81 seldom 69 mammals 63 laying 59 eggs are 33
Step V: 91 seldom 69 mammals 63 laying 57 eggs are 33
Step VI: 81 seldom 69 mammals 63 laying 57 eggs 31 are

How many steps are required to complete the
arrangements?

(a) Seven

(b) Six

(c) Eight

(d) Nine

(e) None of these

What will be the Step Il of the given input?

(a) 91 seldom 69 mammails 63 laying 59 eggs are 33
(b) 91 seldom 69 mammails 65 laying 57 eggs are 33
(c) 91 seldom 69 mammiails 65 laying 59 eggs are 33
(d) 91 seldom 71 mammiails 65 laying 59 eggs are 33
(e) None of these

What is the position of ‘63’ from right end in Step VII?
(a) Second

(b) Third

(c) Fourth

(d) Fifth

(e)There is no such step
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Input: mammals 65 laying 59 eggs 71 are 93 seldom 33 ‘91 seldom 69 mammials 63 laying 57 eggs are 33’
. represents which step of the given input?

Step I: 9T mammails 65 laying 59 eggs 71 are seldom 33 (a) Step IV

(b) Step V

(c) Step VI

Step Ill: 91 seldom 69 mammails 65 laying 59 eggs are 33 (d) step vii
(e) None of these

Step II: 91 seldom mammails 65 laying 59 eggs 71 are 33

Step IV: 91 seldom 69 mammals 63 laying 59 eggs are 33
Step V: 91 seldom 69 mammals 63 laying 57 eggs are 33

. What is the sum of the term which is 5th from the left
Step VI: 91 seldom 69 mammals 63 laying 57 eggs 3lare || end in step I and the term which is second last from
the right end in step VI?

(a) 94

(b) 92

(c) 90

(d) 88

(e) None of these
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UBK%SISVBES5GOO4P@B7ZH6E6&N*9RA41X

Which of the following element is third to the left of the ninth to the right of ‘0"?

frafaf@a & ¥ Fls7 a1 a9 o%aﬁ#aﬁ%aﬁr#mwmw%’?
oy

(c) 9

(d) Q

(e) None of these.

it
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Which of the following element is the eighth to the right of the fourteenth
from the left end of the above arrangement?

frfaf@a 7 & &l a1 dcg 3WFT JaFyT § 9I¢ 8K ¥ dlggd & & @
rear g7

(a) 6.

(b) #

(c) 9

(d) Q

(e) None of these
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How many such humbers are there in the above arrangement, each of
which is immediately preceded by a vowel and immediately followed by a
consonant?

3WIFd g€t # W fFael gEae §, Sd & 93% & F g e T AR
& d1¢ UFH <ol g7

(a) One

(b) Two

(c) Three.

(d) More than four

(e) None
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What should come next in the following series based on the above
arrangement?

3RFd STaTdT & IR W Arafaf@a g@ar 7 3w F27 e anfee?
3$50@Z ?

(a)u3k

(b) 6*A

(c) 6*R.

(d) 691

(e) &BN
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UK%SISVBESGOCOA4AP@B7ZHGB6&N*9RA41X

If we insert “T"” after every third letter in the above series starting from the
left end of the series, then what will be the 19th element from the right end of
the series?

IS &7 AT F 9 B8R F YT FIA U 3WFd ATl A T AF R e/ & 915
"1 ST €, af ST ¥ g BR ¥ 1997 ded FAT g?

(a) B.

(b) T

(c) @

(d) 7

(e) None of these
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‘rising future simple view' is written as’ la re vw tz’, What does ‘tz’ stand for?
‘'view power great task’ is written as ‘pa la so tc’, (a) great
‘power task improve future’ is written as ‘tz cd so pa’, Ebg f'mkIO'e

C) tas

(d) future

(e) None of these

What is the code for ‘view'?
(a) re
(b) la
(c) so
(d) tz
(e) cd

What does ‘so’ stand for?
(a) power

(b) rising

(c) simple

(d) task

(e) Either (a) or (d)



http://www.mahendras.org/

/ Watendrna’s / / FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /

‘rising future simple view' is written as’ la re vw tz’,
‘'view power great task’ is written as ‘pa la so tc’,
‘power task improve future’ is written as ‘tz cd so pa’,

Which of the following may represents ‘rising
reat view power '?

?0) re cd pala

(b) vw pa cd so

(c) tzsocdla

(d) re la tc pa

(e) None of these

What does ‘so’ stand for?
(a) power

(b) rising

(c) simple

(d) task

(e) Either (a) or (d)
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a’r—qﬁ-?rABCDEFGHaﬁTla’rmm
TYTAT T ITHAT 9T AT IQ & | TeoT, AT, AR, 5eR,
e, Ha, e, FIAFHTAT I ST A et S
781 =3t 7 & &Y ¥ i uRgea & Ner A=t @
ITHT FIA ¢ HATT| 99, S 3R STgrer| IR & rfa+
3 3 @ w1 afFa aRaest & v &) AT § I
8] e o | ST W ATAT Flet ATeAT e Tered 3G ST ¢ |
# fFre 31X aNaTer Ag ST IET &1 ag I Fa st
YT ST IET & 98 &7 & ITAT 781 FIAT &1 G FIeTahram
SATIET AT AP T N TH F AR AN ST A FaT H
3 IRGgT & AT A ITAT FIAT ¢ o TFR G 1T
FIATE| D H & ITAT FIAT ¢ Ak qg 9T, FITT
I ReN gt ATl B 3K 1 A IRagT FuF 8t
AT T YTAT HIT & o fheT INGT T ITAT FIA dTX &
AT M| CSAT MAT P AT FIATR I AAVE, o
ﬁFﬂﬁésﬁTﬁTﬁmm%lag—qﬁ—cra’rﬁTﬁaﬁr
AT FIATE 98 989 G AAT AT & T ar B R A A
feeeh 3 Aag 1 AT FIATE| E SR T ST T@T & |
ag—qgﬁ—crs?rqmmm%a?avsﬁté?r#waﬁ
HIdT

Nine persons A, B, C, D, E, F, G, H, and | are going
on trips to nine different places viz. Patna, Goq,
Kanpur, Indore, Shimla, Mumbai, Delhi, Kolkata,
and Bhopal but not necessarily in the same
order. They all travel by three modes of transport
viz. bus, trains, and ships. Not more than four
and not less than two persons travel by the same
mode of transport. The one who travels by train
goes to Indore. | is not going to Shimla and
Bhopal. The one who is going to Bhopal do not
travel by train. G was going to Kolkata but
neither by bus nor train. Only H travels with the
same mode of transport as G travels. D travels
by bus but he is not going to Bhopal, Kanpur, and
Delhi. Both B and | travels by same mode of
transport but different with the one who travels
to Goa. C travels to Goa by train. Neither E, nor F
is going to Mumbai and Delhi. The one who
travels to Delhi travels by bus. Neither B nor |
travel to Delhi, and Mumbuai. E is not going to
Indore. The one who is going to Patna do not
travel by bus and train.
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Nine persons A,B,C,D,E, F,G, H,and | are
going on trips to nine different places viz.
Patna, Goa, Kanpur, Indore, Shimla, Mumbai,
Delhi, Kolkata, and Bhopal but not necessarily
in the same order. They all travel by three
modes of transport viz. bus, trains, and ships.
Not more than four and not less than two
persons travel by the same mode of
transport. The one who travels by train goes
to Indore. | is not going to Shimla and Bhopal.
The one who is going to Bhopal do not travel
by train. G was going to Kolkata but neither by
bus nor train. Only H travels with the same
mode of transport as G travels. D travels by
bus but he is not going to Bhopal, Kanpur, and
Delhi. Both B and | travels by same mode of
transport but different with the one who
travels to Goa. C travels to Goa by train.
Neither E, nor F is going to Mumbai and Delhi.
The one who travels to Delhi travels by bus.
Neither B nor | travel to Delhi, and Mumbai. E is
not going to Indore. The one who is going to
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Who travels to Shimla?

(a) E

(b) F

(c) The one who travels by Train
(d) The one who travels by Bus
(e) G

B is going to which city?
(a) Bhopal

(b) Indore

(c) Kanpur

(d) Indore

(e) Cannot be determined

.Which combination represents the persons
travelling by train?

(a)E, F,C,D

(b) H, E, F

(c) C,FE

(d)H G, C,E

(e) None of these
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Four of the following five are alike in a certain way
based on a group, which among the following does
not belong to that group?

(a) Delhi

(b) Bhopal

(c) Mumbai

(d) Shimla

(e) Kanpur

Choose the incorrect combination of persons,
places, and modes of transport from the following
alternatives?

(a) B- Bhopal- Bus
(b) I- Kanpur- Bus
(c) F- Indore- Train
(d) D- Mumbai- Bus
(e) All are correct
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Persons | Places Mode of

Transport

A Delhi Bus

B Bhopal | Bus

C Goa Train

D Mumbai | Bus

E Shimla | Train

F Indore | Train

G Kolkata | Ship

H Patna Ship

I

Kanpur | Bus
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